EERIEESE €F—58 ($M4E682 08HE)

. |
& a4 X5 iﬁ? " =
S&EMUTF 0.16
5 4E#8 6 FELU T 0.17
6 FRB7FEUT 0.18
} 7 EFEBSELUT 0.20
mEEEE B
. SEBIOFELUT 0.23 X (NBF) BWWKERISRIZESNS
BEFEAtESR - : DOLE|EFFIHEN D DIHE. BER
IOFBIOELT | 0.25 | TxT®E1SE). 2F0%
10 F#8 13 FLUTF 0.35
13 F#8 15 FLULTF 0.45
LT R 0.50
ZOMBNFE 0.50
S&EMUTF 0.16
5 4E#8 6 FELU T 0.17
6 FB7EUT 0.18
7 EBSELUT 0.20 |XENEFN0.5%%Z LE3HEE. B -
o s g 1 e Ml (C &k BRI F T TN
’E(f%j ﬁfiﬁg'gﬁ SERBIELT 0.23 [ (1B EMKEEBESRBAN S0
g - A TRERTFHRN G DIEE . ST L)
OFBIOFLIT | 0.25 | sepcmo. £70%
10 F#8 13 FLUTF 0.35
13 &8 16 FELULTF 0.45
16 &8 25 FELAF 0.50
REABHRIEES 0.50
BERERE(LED 1 0
(R—/{—S &) :
R E e
e
o ERSEELES
ZULWHDKDER | 0.50
EREEEe
S N
BHEASHES
ERUWRES R T
2 | BrEpseRgiTEss 0.50
B | EEAERREES 0.50




|
5 & & 2% s W o=
S5€EMTF 0.16
SEB6EUT 0.17
6 FEB7ELUTF 0.18
s _ ) 7EBSEMUT 0.20
EEEr—JT %y NES
SEBIFELT 0.23
9fF#8 10 EIUTF 0.25
10 F#8 13 &FEUTF 0.35
13 F#8 15 FEUT 0.45
sEERES ERERS
(B 3 EERTHE(CHDIBDICRED) B | 6
S5EMTF 1.36 | 0.05
A SEFEB6FEUT 1.37 | 0.05
= 6 FH8 7 FLUT 1.37 | 0.06 | 54244 34R5 (CIR
e e 2 N D A se IR @A,
B¥EItES — 7 EBSELT 1.39 1 0.06 | /o Biuee o
SEBIEMUT \AF | 1.41 | 0.07 | BREAX,
9OFB 10 FEAT 1.42 | 0.08
10 F#B 13 FEUTF 1.49 { 0.11
13 F8 15 FEUTF 1.55{ 0.15
ExEEAE 1.59 | 0.16
KEESR
. FIFBIER
EULLWWDLLDHESR i 0.50 1B :0.375%. Il :0.375%
= LYIE A B4 34ERICPR D F o R %8
(FEROOF IAILRBRIEAICEL S | 4FEEURE Lo ERE,
HERUSH 3EESERECEDD EF| T FFHFER
DIZIRB) B :0.715%. M : 0.535%
z | REAISEREHE - 0.50
o | VEIZRLTTRNEES '
fn | TEEREE&ES 0.50




